
S2_Appendix : Comparison of different analysis
methods: lm vs. nls.

This appendix has been created to compare two different methods we tested to analyse the data from
the French National Forest Inventory used in Bourdier et al. submitted.

The two methods tested were:

1. The log transformed version of the model

2. Non-linear model using ‘nls’ in R

AIC table showing results from both models

For all species, the linear model using lm on the log transformed scale yields better results than the nls
method.

log(dG) = + WB. y + sgdd + βlogBA + γQMD7.5 + δGCba + ϵα0 α1 α2

dG = ∗ B ∗ + ϵe + WB.y+ sgddα0 α1 α2 Aβ eγQMD7.5+δGCba


